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D (d) With the help of a graphical analysis, concoct an example in which an increase
in the rate of interest leads Penclope to reduce her present consumption level.
AN INCREASE IN THE RATE OF INTEREST LEADS TO A STEEPER IBC. THis 18
ILLUSTRATED IN CASE A OF THE ACCOMPANYING GRAPHICS, WHERE POINT
B DENOTES THE NO-SAVINGS, NO-BORROWING CONSUMPTION LEVELS. THE
INITIAL CONSUMPTION LEVELS ARE GIVEN BY POINT A. WITH THE STEEPER
IBC’, THE NEW EQUILIBRIUM CONSUMPTION LEVELS ARE AT POINT A, IN -—.
WHICH THE CONSUMPTION LEVEL IN PERIOD 1, C}, DECREASES TO (.

E) (e) With the help of a graphical analysis. concoct an example in which an increase
in the rate of interest leads Penelope to increase her present consumption level.
THIS 1S ILLUSTRATED IN CASE B OF THE ACCOMPANYING GRAPHICS. WITH i
THE STEEPER IBC’, THE NEW EQUILIBRIUM CONSUMPTION LEVELS ARE AT
e POINT A’, iN WHICH THE CONSUMPTION LEVEL [N PERIOD 1, Cf, INCREASES
TO CF.
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Explain the difference between (6d) and {Ge). THE FACT THAT AN INCREASE IN
THE RATE OF INTEREST HAS AN AMBIGUOUS EFFECT ON THE PPRESENT CON-
SUMPTION LEVEL IS DUE TO ITS TWO OPFOSITE EFFECTS. ONE IS CALLED
THE substitution effect, WHICH HOLDS THAT WITH HIGHER INTEREST RATES,
THE OPPORTUNITY COST OF TODAY'S CONSUMPTION INCREASES IN UNITS
OF TOMORROW'S CONSUMPTION ANI THIS TENDS TO LOWER TODAY'S CON-
SUMPTION. THE OTHER IS CALLED THE wealth ¢ffect. UNDER WHICH HIGHER
INTEREST RATES RAISES THE TOTAL WEALTH VALUE OF NET SAVERS, WHO
WILL TEND TO USE IT TO INCREASE THEIR CONSUMPTION LEVELS AT BOTH
PERIODS THROUGH CONSUMPTION SMOOTHING. WHICH OF THE TWQO EF-
FECTS PREVAILS IN PRACTICE IS AN EMPIRICAL QUESTION.

Which of the two possible eifects of an increase in interest, on present consump-
tion levels is typically assumed to hold in the economy regarding the aggregate
consumption level €;7 What does this say about the effect of an expansionary
monetary policy (i.c.. increased money supply through lower interest rates) by
the central bank?

IN THE AGGREGATE, THE EMPIRICAL EVIDENCE SUGGESTS THAT THE SuB-
STITUTION EFFECT OVERTAKES THE WEALTH EFFECT. L.LE., AN INCREASE IN
THE INTEREST RATE TENDS TO LOWER PRESENT CONSUMPTION. THIS IM-
PLIES THAT AN EXPANSIONARY MONETARY POLICY THAT REDUCES INTEREST
RATES WILL BE MET WITH AN INCREASE IN THE PRESENT AGGREGATE CON-
SUMPTION LEVEL.

Why are there some cconomists who have important reservations regarding the
use of an expansionary monetary policy Lo stinmlate the cconomy? AN EXPAN-
SIONARY MONETARY POLICY IMPLIES THAT THERE 15 MORE MONLEY CIRCU-
LATING AND THIS MAY LEAD TO ADDITIONAL INFLATION THAT MAY GET OUT
OF HAND LATER ON.
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